Crunden Electric Inc. 29513 Corlan Rd. NE

29513 Corlan Rd. NE Blackduck, MN 56630 USA QUOTATION

Quote Number: 1205

TOTAL

10,847.89

Quote Date: Apr 4, 2025

Page:

1

Voice: 218-835-4127

Fax:

Quoted To:

CRUNDEN ELECTRIC QUOTE 29513 CORLAN RD NE Blackduck, MN 56630

CustomerID	Good Thru	Payment Terms	Sales Rep
Q	5/4/25	Net 30 Days	

Quantity	Item	Description	Unit Price	Amount
1.00		MATERIALS	3,864.64	3,864.64
1.00		DISPOSAL/RECYCLE	308.25	308.25
1.00		LIFT	1,074.00	1,074.00
1.00	SI	STATE INSPECTION FEES	113.00	113.00
56.00	L	LABOR	98.00	5,488.00
		REMOVE AND RECYCLE 448		
		FLORESCENT LAMPS AND 112		
		BALLASTS FROM 56 GYM FIXTURES		
	8	AND INSTALL 448 NEW NON DIMMABLE		
		LED BULBS.FIXTURE DAMAGE OR		
		CIRCUIT ISSUES ARE NOT ADDRESSED		
		IN THIS QUOTE AND WILL BE TREATED		u.
		AS A SEPARATE BILLABLE ISSUE.		
		MATERIAL PRICES SUBJECT TO		
		MARKET CHANGES. NORTHOME		
		SCHOOL		
·			Subtotal	10,847.89
			Sales Tax	10,047.03
			Salts Tax	

Crunden Electric Inc. 29513 Corlan Rd. NE

29513 Corlan Rd. NE Blackduck, MN 56630 USA QUOTATION

Quote Number: 1206

TOTAL

853.17

Quote Date: Apr 4, 2025

Page:

1

Voice: 218-835-4127

Fax:

Quoted To:

CRUNDEN ELECTRIC QUOTE 29513 CORLAN RD NE Blackduck, MN 56630

CustomerID	Good Thru	Payment Terms	Sales Rep
Q	5/4/25	Net 30 Days	

Quantity	ltem	Description	Unit Price	Amount
1.00		MATERIALS	242.42	242.42
1.00		DISPOSAL/RECYCLE FEE	19.75	19.75
1.00	SI	STATE INSPECTION FEES	3.00	3.00
6.00	L	LABOR	98.00	588.00
		REMOVE AND RECYCLE 22		
		FLORESCENT LAMPS AND 11 BALLASTS		
		FROM 12 COMMONS AREA 2 TUBE		
		FIXTURES AND INSTALL 22 NEW NON		
		DIMMABLE LED LAMPS. FIXTURE		
		DAMAGE AND CIRCUIT ISSUES ARE		
		NOT ADDRESSED IN THIS QUOTE AND		
		WILL BE TREATED AS A SEPARATE		
		BILLABLE ISSUE. MATERIAL PRICES		
		SUBJECT TO CHANGE.NORTHOME		
		SCHOOL		
	1		Subtotal	853.17
			Sales Tax	

Crunden Electric Inc. 29513 Corlan Rd. NE

Blackduck, MN 56630 ÚSA

Voice: 218-835-4127

Fax:

Quoted To:

CRUNDEN ELECTRIC QUOTE 29513 CORLAN RD NE Blackduck, MN 56630

					(\bigcirc)		
	3		ar a	. 🕮	Waster of the last	3	4

Quote Number: 1207

Quote Date: Apr 4, 2025

Page:

1 .

Customer ID	Good Thru	Payment Terms	Sales Rep
Q	5/4/25	Net 30 Days	

	Quantity	Item	Description	Unit Price	Amount
	1.00		MATERIALS	1,412.84	1,412.84
	1.00		DISPOSAL/RECYCLE FEES	43.06	43.06
	1.00	SI	STATE INSPECTION FEES	3.00	3.00
	12.00	L	LABOR	98.00	1,176.00
			REMOVE AND RECYCLE 72 COMPACT	·	
			FLORESCENT LAMPS AND 24 BALLASTS		i
			FROM 12 ROUND COMMONS AREA		
			FIXTURES AND INSTALL 72 NEW LED		
			NON DIMMABLE COMPACT		
			FLORESCENT LAMPS FIXTURE		
			DAMAGE AND CIRCUIT ISSUES ARE		
			NOT ADDRESSED IN THIS QUOTE AND		
			WILL BE TREATED AS A SEPARATE		
			BILLABLE ISSUE.MATERIAL PRICES		
_			SUBJECT TO CHANGE. NORTHOME		•
			SCHOOL		
				:	
į					
					·
				Subtotal	2,634.90
				Sales Tax	
				TOTAL	2,634.90

Crunden Electric Inc. 29513 Corlan Rd. NE

Blackduck, MN 56630

USA

Voice: 218-835-4127

Fax:

Quoted To: CRUNDEN ELECTRIC QUOTE 29513 CORLAN RD NE Blackduck, MN 56630

QUOTATION

Quote Number: 1208

Quote Date: Apr 4-2025

Page:

1

Custor	ner ID	Thru Payment	Terms	Sales Rep
C	5/4/	***************************************		
Quantity	ltem	Description	Unit Price	Amount
1.00		MATERIALS	436.0	64 436.64
1.00		DISPOSAL/RECYCLE FEE	12.	60 12.60
1.00	SI	STATE INSPECTION FEES	6.	00 6.00
6.00	l ₁	LABOR	102	00 612 00

1.0	o	DISPOSAL/RECYCLE FEE	12.60	12.60
1.0	o sı	STATE INSPECTION FEES	6.00	6.00
6.0	o L	LABOR	102.00	612.00
		REMOVE AND RECYCLE 6 COMMONS	ļ	
		ROOM CAN FIXTURES AND REPLACE		
		WITH 6 NEW LED CAN		
,		FIXTURES.FIXTURE DAMAGE AND		
		CIRCUIT ISSUES ARE NOT ADDRESSED		
		IN THIS QUOTE AND WILL BE TREATED		
		AS A SEPARATE BILLABLE		
		ISSUEMATERIAL PRICES SUBJECT TO		
		CHANGE, NORTHOME SCHOOL		
				ŀ
				j
			Subtotal	1,067.24
			Sales Tax	
			TOTAL	1,067.24

Crunden Electric Inc. 29513 Corlan Rd. NE

Blackduck, MN 56630

USA

Voice: 218-835-4127

Fax:

QUOTATION

Quote Number: 1209

Quote Date: Apr 4, 2025

Page:

1

Quoted 1	To:		
CDUMDI	IN ELECTR	IC OLIOTE	

29513 CORLAN RD NE Blackduck, MN 56630

Gustomer ID	Good Thru	Payment Terms	Sales Rep
Q	5/4/25	Net 30 Days	

- Quantity	ltem	Description	- Unit Price-	Amount
1.00		MATERIALS	1,320.57	1,320.57
1.00		DISPOSAL/RECYCLE FEES	59.40	59.40
1.00		LIFT	977.63	977.63
1.00		STATE INSPECTION FEES	35.00	35.00
10.00	L	LABOR	98.00	980.00
		REMOVE/RECYCLE 9 MH YARD LIGHT		
		HEADS AND REPLACE WITH 9 LED	:	
		COMPATIBLE YARD LIGHT HEADS, FOR		
		LED ADJUSTABLE HEADS ADD \$2030,04		
·		TO THIS QUOTE. STRUCTURE DAMAGE		
·		AND CIRCUIT ISSUES ARE NOT		
		ADDRESSED IN THIS QUOTE AND WILL		
		BE TREATED AS A SEPARATE BILLABLE		
		ISSUE.MATERIAL PRICES SUBJECT TO		
-		CHANGE. NORTHOME SCHOOL		
:				
		<u></u>		
		•	Subtotal	3,372.60
			Sales Tax	
			TOTAL	3,372.60

Crunden Electric Inc. 29513 Corlan Rd. NE

Blackduck, MN 56630

USA

Voice: 218-835-4127

Fax:

Quoted To:

CRUNDEN ELECTRIC QUOTE 29513 CORLAN RD NE Blackduck, MN 56630

\bigcup	(0)		i a	N. S. Barrell	P	
		a de la companya de l			2 3	翻

Quote Number: 1210

Quote Date: Apr 4, 2025

Page:

Customer ID	Good Thru	Payment Terms	Sales Rep
Q	5/4/25	Net 30 Days	

- Quantity	•	ltem	Description	Unit Price	Amount
	1.00	and the state of t	MATERIALS	2,250.56	2,250.56
	1.00		DISPOSAL/RECYCLE FEES	49.20	49.20
	1.00		LIFT	977.63	977.63
•	1.00	SI	STATE INSPECTION FEES	36.00	36.00
18	8.00	L	LABOR	98.00	1,764.00
			REMOVE/RECYCLE 12 WALL PACK		
			LIGHTS AND REPLACE WITH 12 NEW		
			LED WALL PACKS. STRUCTURE		
			DAMAGE AND CIRCUIT ISSUES ARE		
			NOT ADDRESSED IN THIS QUOTE AND		
			WILL BE TREATED AS A SEPARATE		
			BILLABLE ISSUE. IF QUOTE 1209 IS	1	
			ACCEPTED THE LIFT FEE OF \$977.63		
			MAY BE DEDUCTED FROM THIS		
			QUOTE.MATERIAL PRICES SUBJECT TO		
			CHANGE NORTHOME SCHOOL		
.					
				1	
·		<u> </u>		Subtotal	5,077.39
				Sales Tax	
				TOTAL	5,077.39